There are four pronouns numbered in the text. Write what they refer to.
a. They e c. They e
b. they d. they
Mark the sentences either T (true) or F (false). If there is no information, write NG (not given).
. Humans are responsible for the extinction of all Ice Age animals. ...

a
b. The Spread of mankind coincides with the extinction of the woolly mammoth. .............

o

Climate change is the only culprit for the loss of the woolly mammoth. ...
d. Elephants are the living relatives of the woolly mammoth. ...

e. Woolly mammoths died because they couldn’t survive in the tundra of the Ice Age.  .............

Match the phrases in column A and B to form complete sentences according to the text.

A B
a. As the Earth began to heat up, 1. humans inhabited vast areas of the world.
b. The word “mammoth” has come to mean “huge,” 2. humans began to hunt them for their meat, bones
c. After coming into contact with woolly mammoths and skin.

3. the world’s climate became too hot for the

d. When the Ice Age ended and temperatures got
mammoths.

warmer
4. but woolly mammoths were about the size of
elephants.
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